Exponents Product Rule

Name: Score:

Use the product rule and answer in a single exponent.

11" x 117 = 9 x 9 = 15" x 15
£ x 4 = 4 x 4 = 7% x 7
55 x 5 = 2° x 2 = 19° x 19°
37 x 3% = 10° x 10° = 'x 1
13" x 13° = 20" x 20° = 55x 5
9% x 9 = 6 x 6 = 9° x 9
10° x 10" = 7" x T = 18" x 18’
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Answers

Use the product rule and answer in a single exponents.

1 x 117 = 1”7 9 x 9 = o
4 x 4 = 4 4 x 4 = 4"
55 x 5 = 5 2 x 20 = 2
3 x 3= 3" 10 x 10 = 10"
13°x 13° = 13 20" x 20" = 20"
9"x 9 = 9 6 x 6 = 6
10" x 107 = 10" 7" x 7 = 77
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